Hosam Elmetaher

Due to their proximity to the sun, the ambient surface temperature on Mercury
ranges widely from 100 to 700 Kelvin.

Answer is on the next page.
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Due to their proximity to the sun, the ambient surface temperature on Mercury
ranges widely from 100 to 700 Kelvin.

their=> its
Grammar Pointf

“Their” refers to the sentence subject “Mercury” which is singular, therefore, “its
should be used instead of “their”

Key VoCabulary:

Proximity (noun - singular): Near to

Ambient (adjective): The surrounding area

Surface (noun-singular): Top of something
Temperature (noun-singular): How hot or cold it is
Mercury (noun-singular): The planet nearest the sun
Range (verb): Extend or vary

Kelvin (noun-singular): A unit of temperature

29

OEFL® Tip:
Pronouns, such as he, she or it can often replace the noun of a sentence. When you
see a pronoun in a TOEFL® sentence, make sure to match it with its noun. Also, be
sure of the role it has in the sentence, whether subject, object, or possessive.

Subject pronouns: I, you, he, she, it, we, you, they.
Object pronouns: Me, you, him, her, it, us, you, them.
Possessive pronouns: Mine, yours, his, hers, its, ours, theirs.

un English:

Little Sam (on the phone): Hello. My son has a fever and he won’t be able to come

to school today.
Teacher: Who is this?
Little Sam: This is my father speaking!
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Q13 Practice.

Napoleon was born on 15 August 1769, to Carlo Maria di Buonaparte and Maria
Letizia Ramolino. He was their fourth child and third son. This was a year after

their island was transferred to France by the Republic of Genoa.

Shakespeare was born and brought up in Stratford-upon-Avon, Warwickshire. At
the age of 18, he married Anne Hathaway, with who he had three children.

Mickey Mouse generally appears alongside his girlfriend Minnie Mouse, his pet
dog Pluto, and their friends Donald Duck and Goofy.

RMS Titanic was a British passenger liner that sank in the North Atlantic Ocean in
the early moming of 15 April 1912, after colliding with an iceberg during

his maiden voyage from Southampton to New York City.

The tiger is the largest cat species, most recognizable for his pattern of dark

vertical stripes on reddish-orange fur with a lighter underside.

Answer is on the next page.

153



TOEFL® ITP Test: Listening, Grammar & Reading

Q13 Practice: Answer

Napoleon was born on 15 August 1769, to Carlo Maria di Buonaparte and Maria

Letizia Ramolino. He was their fourth child and third son. This was a year after

their island was transferred to France by the Republic of Genoa.

Answer: their = the

Q13 B

Shakespeare was born and brought up in Stratford-upon-Avon, Warwickshire. At
the age of 18, he married Anne Hathaway, with who he had three children.

Answer: who = whom

Q13 C
Mickey Mouse generally appears alongside his girlfriend Minnie Mouse, his pet

dog Pluto, and their friends Donald Duck and Goofy.

Answer: their =2 his

RMS Titanic was a British passenger liner that sank in the North Atlantic Ocean in

the early morning of 15 April 1912, after colliding with an iceberg during

his maiden voyage from Southampton to New York City.

Answer: his = her

The tiger is the largest cat species, most recognizable for his pattern of dark

vertical stripes on reddish-orange fur with a lighter underside.

Answer: his = their
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World renown hot-springs and sand-baths is the primary attractions of Beppu
City, Japan.

Answer is on the next page.
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World renown hot-springs and sand-baths is the primary attractions of Beppu
City, Japan.

NN is—> are

Grammar point:

There are two plural subjects “hot-springs” and “sand-baths”, therefore the verb “is”
has to be plural.

Key VoCabulary:

Renown (noun - singular): Very famous

Hot-springs (noun-plural): Natural hot water baths, usually over 37 degrees
Sand-baths (noun-plural): Natural hot sand, usually over 37 degrees
Primary (adjective): First

OEFL® Tip:
The first thing you probably want to do with TOEFL® grammar questions is to find
both the subject and verb of each sentence and check if they are singular or plural.

Basically, if the subject is plural the verb has to be plural, and vice versa.

English Tip:
The following subjects are SINGULAR even though they seem plural: anybody,
anyone, anything, everybody, everyone, everything, nobody, no one, nothing,

somebody, someone, each + noun, every + noun.

un English:

Mike: Sir, I want to ask you something.

Teacher: Ok Mike, what do you want to know?

Mike: Do you punish anyone for something they did not do?
Teacher: Of course not. Why do you ask?

Mike: That’s a relief, since I haven’t done the homework.
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Q14 Practice.
Q14 A

In its early years, special education was only provided to people with severe

disabilities, but more recently it has been opened to anyone who have experienced

difficulty learning.

Q14 B

Examples of Synchronous learning are face-to-face discussion, online real-time

live teacher instruction and feedback, Skype conversations, and chat rooms or
virtual classrooms where everyone are online and working collaboratively at the

same time.

Q14 C

Every student have his or her own learning requirements, and a Web 2.0

educational framework provides enough resources to accommodate this diversity.

Q¢ E

I don't know where to begin because everyone were so wonderful! Since you are

only 4 hours away from us- I hope to come back again and again!

Answer is on the next page.
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Q14 Practice: Answer

In its early years, special education was only provided to people with severe

disabilities, but more recently it has been opened to anyone who have experienced

difficulty learning.

Answer: have = has

Q14 B

Examples of Synchronous learning are face-to-face discussion, online real-time

live teacher instruction and feedback, Skype conversations, and chat rooms or
virtual classrooms where everyone are online and working collaboratively at the

same time.

Answer: are = is

Q14 C

Every student have his or her own learning requirements, and a Web 2.0

educational framework provides enough resources to accommodate this diversity.

:Answer: have = has

Q14D
I have a feeling something good are going to happen today.

nswer: are = is

Q¢ E

I don't know where to begin because everyone were so wonderful! Since you are

only 4 hours away from us- I hope to come back again and again!

Answer: were = was
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Holiday makers at tourist resorts are usually more interested in contemporary

cultural experiences than in historically ones.

Answer is on the next page.
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Holiday makers at tourist resorts are usually more interested in contemporary
cultural experiences than in historically ones.

NI historically=> historical

Grammar Point:

“Historically” is an adverb. We need an adjective “historical” to define the noun
[13 2
ones

Key Vocabulary:

Holiday makers (noun-plural): Tourists

Resorts (noun - plural): Place people go for holiday
Contemporary (adjective): Current

Cultural (adjective): A way of life

OEFL® Tip:

Adverbs usually end with “ly”.

English Tip:

In general, adjectives are words used to help describe the nouns, whereas adverbs
are used to describe verbs

Ex:

Adjective: She is beautiful.

Adverb: She sings beautifully.

un English:

Q: Which animal is the strongest?
A: A snail, because he always carries his house on his back!
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Q15 Practice.
Q15 A

This uniquely program is a dream for Speech/Language Pathologists. I use it in so

many different ways with different ages and different disabilities.

Q15B

The supervisor can include formal verbally warnings in an employee's personnel

file for future reference.

Q15 C

If you want to learn how to sing beautiful, there are many aspects in singing and

voice projection that have to be taken into consideration.

Q15 D

If you tend to drive slow in the left lane, then take note. At best, you're creating

more traffic.

Q15 E

This indicator measures the percentage of the urban and rural population using safe

managed drinking water services.

Answer is on the next page.
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Q15 Practice: Answer
Q15 A

This uniquely program is a dream for Speech/Language Pathologists. I use it in so

many different ways with different ages and different disabilities.

Answer: uniquely 2 unique

Q15B

The supervisor can include formal verbally warnings in an employee's personnel

file for future reference.

Answer: verbally—> verbal

Q15 C

If you want to learn how to sing beautiful, there are many aspects in singing and
voice projection that have to be taken into consideration.

;Answer: beautiful = beautifully

Q15 D

If you tend to drive slow in the left lane, then take note. At best, you're creating

more traffic.

Answer: slow = slowly]

QIS E

This indicator measures the percentage of the urban and rural population using safe

managed drinking water services.

Answer: safe =2 safely
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